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HI1TAA o
f= 176 FNo.= 226 FOV = 120 OAL = 4.210
oM H| 3 ZE WAE  FMH/AZ ZHE Oft| = EEAZ
s1 1.8272 0.3569 1.661 20.353 -3.277
H1a=
s2 0.9141 0.4108
s3 3.9101 0.5588 1.544 56.113 2.330
X2zl =
sS4 -1.7813 0.1627
S5 1.5712 0.1542 1.661 20.353 -21.396
H3d=
S6 1.3589 0.0941
s7 11.8423 0.9735 1.544 56.113 1.261
M4z =
S8 -0.7073 0.0300
S9 1.1889 0.2964 1.661 20.353 -1.708
M5 =
510 0.5216 0.3234
S11 Infinity 0.2100 1.517 64.197
2E
S12 Infinity 0.6362
S13 A Infinity 0.0033
¥ 2
H1aAjof S1 52 S3 sS4 S5 S6 s7 s8 s9 510
g UIX|E 1.827225 0.914142 3.910097 -1.781266 1.571183 1.358865 11.842302 -0.707278 1188851 0.521628
K 000000 0.000000 -8.401287 2972624 0.000000 -10.250335 99.000000 -0.809139 0.000000 -3.335920
A 0.227844 0.590747 -0.121427 -0.732900 -1.329561 -0.293090 0.338870 0.713044 -1.010705 -0.419523
B -0.117480 0.250121 1.263999 1.897575 1.583851 -0.872037 -0.966386 -1.652933 0.875290 0.382958
C 0.065547 -0.354051 -27.117707 -9.329856 -4.108482 3.597064 1.644401 3111453 -1.815142 -0.252569
D 0.186975 11152435 231.208787 31.252425 14.537892 -5.191226 -1.611421 -3.391064 3.289688 0.104104
E -0.315675 -14.942084 -1016.812218 -63.404808 -26.675815 3.300072 0.874709 1948480 -3.781265 -0.026347
F 0.103098 0.079450 1720.364702 47.165852 17.388764 -0.766556 -0.200940 -0.430857 2.219282 0.003823
G 000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 -0.515963 -0.000251
H 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000
J 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000
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Hi24 A off S1 52 s3 54 S5 S6 s7 S8 s9 s10
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HI3AA of
f= 175 FNo.= 228 FOV = 120 OAL = 4.493
ba k-1 H| 31 ZE UXE  EM/AZ Z2E oftj| 5= skl
s1 3.8701 0.3481 1.661 20.353 -4.144
Hia=
S2 1.5466 0.5749
S3 10.2832 0.5834 1.544 56.113 2.332
H2a=
s4 -1.4184 0.1052
S5 2.8627 0.2300 1.661 20.353 -8.226
H3a=
S6 1.8154 0.1086
57 74.0595 0.9500 1.544 56.113 1321
Haz=
S8 -0.7222 0.0300
S9 1.3105 0.3556 1.661 20.353 -1.777
H53 =
S10 0.5525 0.3592
s11 Infinity 0.2100 1.517 64.197
g
S12 Infinity 0.6386
513 Aboy Infinity -0.0007
#Z 6
HI3A A0 S1 s2 S3 sS4 S5 S6 s7 S8 s9 510
-Z‘,-% UJI]% 3.870058073 1.546550711 10.28321709 -1.418375059 2.862675543 1.815368291 74.05948473 -0.722186702 1.31051937 0.552533338
K 0.00000 0.00000 -96.80463 191204 0.00000 -1.55644 99.00000 -0.77008 0.00000 -3.63303
A 0.246228 0477183 -0.214778 -0.618360 -0.894138 -0.375929 0.283148 0.662606 -0.738227 -0.271495
B -0.091476 0.126439 0.013129 2.565187 2419177 0.618328 -0.613361 -1.302372 0.587993 0191432
C -0.027202 0.318774 -4.923829 -9.702558 -5.702367 -0.829356 1057966 2.207116 -0.951832 -0.098564
D 0.156316 -3.522727 21.048482 23.019022 9.507106 0.798591 -1.108043 -2.301321 1.279264 0.031833
E -0.112267 14.846437 -42.363160 -31.387772 -9.089895 -0.497980 0.658226 1.410241 -1.108475 -0.006221
F 0.021039 -16.241587 -9.824457 15.776506 3.671254 0.134589 -0.167942 -0.352595 0.522214 0.000645
G 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 -0.102222 -0.000027
H 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000
) 000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000
L 75 Fxst] A4HA del wE & FEAE At
A1A=(410)= F-o SHYE 7MW, A SHo] E55t 4 SWo] 53 ot} A2dll=(420)= H 9]
2AYE 7, EA SHo] EF5ta A S0l EF3 PAoltt. A3A=(430)= Fo 2HYE A, &
A SWo] BEFstaL A SHol o&5g Aotk ol&e], A3#=(430)= =4 SH 4 A SHe] wWazo] 3
A Aot d d=2, A3A=(430)2] =4 SHL 35 Fio] BEEsta PR Fto] 53 34t
I, A3M=(430)9] & SHL 25 Fio] &gt JPdRe] Bl EF3 Aotk A4u=(440)= Ao
2AYE 7, EA 9ol BF3taL A SWo] B9 FAolvk.  ASA=(450)= F-o =4EE 7HAH,
A SWol BF3lal A S¥ol 5% Fol ob&2], ASA=(450)= =4 SH H A S W5H o]



[0078]

[0079]

[0080]

[0081]

[0082]

omn
J

351 10-2071922

HAEE dAtoltt. o d7, A5AZ(450)9] EA HHS £F HEo| BEsta gy FEo] &3 A
olar, A5AZ(450)9] 4 SWL <F Fio] &5 MgAE] Fio] B53 Aol

4 FsHA(400) = S FAskeE olvA] AAM470)E Egsict. 2 FsHAI(400) = FE(460)E E 3T}
L (460)= ASA=(450) 2k on] =] 11*1(470) Abololl wixl@Th, A #HA(400) = ZN(SDHS E3H3o,
ZEN(ST) = A18=(410)9 A28 =(420) Alolol] wjx] @},

2} FsHA(400) 0l A A1AA(410), A3AA(430), ABSAZ(450)= 2 A=2EHT 2 FHES et 5
o drdsid, xﬂ1a11(41o) A3AN=(430), ASAM=(450)9] FHELS 1.6610]aL, A2#:1=(420) = A4 =
(440)9] ZHEL o]HT} Y& 1.5440]t),

Ak FSA (400) 0 A3AZ(430)= 7HE 711 2@ AYE M S Ao IA] ool Al A3AM=(430)9] =4
A -8.850]1, 1 & WREY ZHAYE oKt Art

B AA] oo g # Pl = 8ol mAIE ule} 22 3 EAS yERdh ol # 7S E A o
w2 ZA FaAe A= EAS e AHola, ¥ 8 E AA] do] wE &4 a9 H7H EAS UE
W Folt},

X7
HadA| of
f= 175 FNo.= 207 FOV = 120 OAL = 4.493
s H| SE WXE FH/AE =HE Ol = EHAE

s1 40602 0.3492 1.661 20.353 -4.203
Him=

s2 1.5930 0.5751

s3 8.8363 0.5862 1.544 56.113 2.425
H2u=

s4 -1.5141 0.1063

S5 2.5048 0.2300 1.661 20.353 -8.853
3=

S6 1.6899 0.1106

s7 37.3602 0.9500 1.544 56.113 1.308
S PEES

S8 -0.7191 0.0300

s9 1.3112 0.3500 1.661 20.353 -1.785
H 53 =

S10 0.5551 0.3577

s11 Infinity 0.2100 1.517 64.197

2
s12 Infinity 0.6391
513 Abe Infinity -0.0009
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[0083]

[0084]

[0085]

[0086]

[0087]

S=546 10-2071922

* 8

Hlas Ao sl 52 s3 54 S5 56 57 S8 s9 510
Q; uix|2 | 4.060203826 1.592987031 8.836278242 -1.514104128 2.504749709 1.689866781 37.36016822 -0.7191191 1.311154543 0.555075821
K 0.00000 0.00000 -96.80463 1.85760 0.00000 -1.83097 '99.00000 -0.77126 0.00000 -3.78121
A 0.242382 0.466606 -0.171925 -0.604529 -0.886692 -0.381078 0.285630 0.703664 -0.739670 -0.254505
B -0.062039 0.206024 0.092698 2469228 2.268378 0.589971 -0.582260 -1.409937 0.664995 0177839
C -0.088683 0.424040 -4.927126 -9.356664 -5.237799 -0.775827 0.942664 2444889 -1.135120 -0.093895
D 0.222032 -5.068666 24.940776 21.688561 8.608267 0.777208 -0.956880 -2.584995 1.535753 0.030426
E -0.147657 18.481333 -74.903367 -28.037262 -8.043410 -0.519579 0.562125 1.559771 -1.356597 -0.005865
E 0.027293 -18.736071 79.648860 13103807 3140271 0148324 -0.143887 -0.380011 0.647281 0.000596
G 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 -0.125703 -0.000024
H 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000
J 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000 0.000000

F 9= AVEA o WA AdLA] oo mE B G =14 gE vERIn
Z9

=Y H1Al o  HM2HA of  H3HA o H4AEA O

F No. 2.26 2.26 2.28 2.07
TTL/ImgH 1.84 1.97 1.97 1.97
f 1.76 1.76 1.75 1.75
FOV 120 120 120 120
CT4/ET4 3.49 2,91 2.88 2.86
V1-V2 -35.76 -35.76 -35.76 -35.76
V4-V5 35.76 35.76 35.76 35.76
CT5/sag5 1.54 0.51 0.53 0.53
N1 1.661 1.661 1.661 1.661
N3 1.661 1.661 1.661 1.661
N5 1.661 1.661 1.661 1.661
|f1/4| 1.862 2117 2.368 2.402
|£3/4| 12.157 19.945 4.700 5.059

2 AEHAA A=) 2HAYE AR 5.0 ~ -2.5 oA AR, B FIANA A2A =<
AAZE dAR 2.0 ~ 4.0 BHdA AgE. 23 FgA A A= =28AZE dAZ -50 ~ -6.0 HY
oA AAEC. #FA FEANA AdA =] 2HADE dAZ 1.0 ~ 3.0 H9oA AAHET. 24 F3HA oA
AsA=e] ZHA = AR -3.0 ~ -1.0 H9ldA AR}, 2 FA9 AA 2AALE dAZ 1.0 ~
1.8 WMol AAErt. 4 FaAe] WA Aol(TL)2 AR 3.8~ 4.8 B9 AX AL},
g2 ol oAl ARE= AA oolv dAEE AL ofym, & o] £33z V)EioklA B A4
7 9 z E Z "oy &2 HYos drles

rze 49

_14_
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